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QUESTION 1

A customer has a number of applications on different operating systems. These applications require fail-over capability.
The customer has chosen the appropriate cluster technology for each platform. With which two cluster types is Hitachi
Data Systems allowed to integrate? (Choose two.)

A. Sun Cluster

B. MetroCluster

C. Veritas Cluster

D. Continental Cluster

Correct Answer: AC

QUESTION 2

A customer is implementing Copy-on-Write SnapShot (CoW) for the first time on a Universal Storage Platform USP100
array. What should the customer do prior to creating the pool?

A. Create the V-VOL group.

B. Register the pool ID number.

C. Initialize the V-VOL management area;
D. Place the pool disks in a separate CLPR.

Correct Answer: C

QUESTION 3
You are attempting to do a Shadowlmage replication, HORCM does not start. The following messages are
found in the logs:

09:00:49-d2348-02696- horcread():this device is not a command,device.:\.\PHYSICALDRIVE7 09:00:49d2348- 02696-
[WARNING] This device (\\.\PHYSICALDRIVE?Y) is not ready for receiving a command.

09:00:49-d61c8-02696- ERROR:horcm_cfg_create 09:00:54-d61c8-01940- horcmgr:Failed to connect to
HORCM.

Which action would help resolve the problem?

A. Check the HORCM_DEV section in the configuration file.

B. Run the raidscan -x findcmddev 0,20 command.

C. Run the raidscan -x mkcmddev \.\PHYSICALDRIVE7 command.
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D. Use Windows Disk Manager to assign a drive letter to W\PHYSICALDRIVE7.5.1\\W.\ \PHYSICALDRIVE7.5.1

Correct Answer: B

QUESTION 4

A customer uses TrueCopy on a database and has a disaster at the primary site. Failover to the secondary site has
occurred. What are two methods to help with the recovery? (Choose two.)

A. Use the pairsplit -E command.
B. Use the pairsplit -S command.
C. Use the horctakeover -S command.
D. Use the horctakeover -G command.

Correct Answer: BC

QUESTION 5

Your customer must decide which Three Data Center (3DC) Business Continuity Solution configuration meets
expectations. Which 3DC configuration is accurate?

A. 3DC Multi-target with a Journal Group on all three USPs.

B. 3DC Multi-target with a Journal Group on each of two USPs.

C. 3DC Pass-Through Cascade with a Journal Group on two USPs.
D. 3DC Pass-Through Cascade with a Journal Group on three USPs.

Correct Answer: A

QUESTION 6

An Hitachi Data Systems customer is implementing a TrueCopy solution on a Universal Storage Platform (USP). Where
would you obtain the latest information regarding supported features and hardware?

A. Country Product Manager

B. USP User and Reference Guide

C. USP TrueCopy User and Reference Guide

D. Microcode ECN (Engineering Change Notice)

Correct Answer: A
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QUESTION 7

After executing a paircreate command you find that the secondary volume is mounted to a system. Which action
sequence should be used to correct this situation?

A. Unmount the secondary volume.

B. Unmount the secondary volume then execute the paircreate command again.

C. Execute pairsplit -S, unmount the secondary volume, then execute the paircreate command again.
D. Unmount the secondary volume, execute pairsplit -S, then execute the paircreate command again.

Correct Answer: C

QUESTION 8

The Hitachi HiCommand Protection Manager (HPtM) software uses Volume Shadow Copy Service (VSS) to protect
mission critical databases, file systems and application data, Which three components does VSS coordinate to achieve
this? (Choose three.)

A. The application that requests VSS services.

B. The programs that manage shadow copies.

C. Copy-on-Write SnapShot designed for VSS.

D. Hitachi Software that allows you to present storage.

E. Applications that store persistent information on disk.

Correct Answer:. ABE

QUESTION 9

Which choice is correct when you integrate HiCommand Protection Manager (HPtM) software with Microsoft Cluster?
A. Install and setup Protection Manager in one cluster node.

B. Install and configure Protection Manager in each cluster node.

C. Install Protection Manager in each cluster node; setup Protection Manager in one cluster node.

D. Install Protection Manager in one of the cluster nodes, setup Protection Manager in each cluster node.

Correct Answer: B

QUESTION 10
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A customer wishes to copy a database on external storage controlled by a Universal Storage Platform over 10km using
TrueCopy Synchronous. Which HiCommand product is used to manage the replication?

A. HiCommand Device Manager (HDvM)

B. HiCommand Protection Manager (HPtM)

C. HiCommand Replication Monitor (HRpM)

D. HiCommand Tiered Storage Manager (HTsM)

Correct Answer: A

QUESTION 11

A customer is interested in acquiring an Hitachi Storage Cluster (HSC) for Microsoft Environments solution. Which two
extra features or functions are being purchased? (Choose two)

A. The ability to do server clustering.

B. The ability to do clustering over long distance.

C. The ability to coordinate replication and clustering.

D. The ability to do clustering with heterogeneous storage.

Correct Answer: BC

QUESTION 12

A customer wishes to create copies using Copy-on-Write SnapShot of a database containing a large number of changes
-- about 50 percent for each day. The customer also wants to keep five copies of the database though access to the
copies is not high. Which statement is correct?

A. The pool should reside on external storage to keep costs low.

B. The pool logical volumes should be the same size as the production logical volumes.

C. The database should be copied using Shadowimage and not Copy-on-Write SnapShot.

D. The pool should be at least three times the size of the database if Copy-on-Write SnapShot is used.

Correct Answer: D

QUESTION 13

On the Storage Navigator frame for a TrueCopy pair operation, the "Status" column indicates PDUB. What is the status
of the pairs indicating PDUB?

A. This is a TrueCopy LUSE status of a pair suspended error.
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B. This status indicates that the TrueCopy pair is in the initial copy.
C. One or more LDEYV pairs are SMPL on a TrueCopy LUSE volume.
D. The status of the TrueCopy software LUSE volume is in the initial copy.

Correct Answer: C

QUESTION 14

A customer has set up an Hitachi Storage Cluster (HSC) for Microsoft Environments called "SQLclus". The name of the
Generic Script resource is "hscscript”. The name of the resource that is dependent on hscscript is called "MSSQLIun" In
which two files do you find the name of the CCI device group? (Choose two.)

A. horcm.conf

B. SQLclus.conf

C. MSSQLIlun.conf

D. hscscript.conf

Correct Answer: AD

QUESTION 15

A customer has a 20TB database on external storage attached to a USP600. The database is used occasionally for
high value reference data, It is also prone to corruption. Which steps should the customer take to minimize the impact of
the corruption?

A. The database should be copied permanently to a secondary site using TrueCopy.

B. Move the REDO logs to the USP internal storage and leave the data files on external storage.

C. A Copy-On-Write snapshot of the database should be taken once per day for restore in the event of corruption.

D. A Shadow Image copy of the database should be taken once per day onto internal storage and that should be used
instead.

Correct Answer: C
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